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NB: This result is the same as the original problem. This shows that if we keep applying L’Hopital’s Rule
we will keep going in circles indefinitely. Therefore L’'Hopital’s Rule does not work here. Note that this
does not mean that the limit does not exist, only that we will have to use some other method to find this
limit.

Using L’Hopital’s Rule:
1.
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5. lim,_+[x*] Indeterminate form 0°...

To solve this problem we have to make work with a different problem that will help us get to

the solution of this one.

Let y = x*

S nlv) = In(x*)

S nlv) = xin(x)

S TR Lo R A N ML, LI 2

Recall from #4 lim, ,+ [xin(x)] = O

- lim, L+ [In(x)] =0

- limx_m+[em(3"j] = g
- lim, L+ [¥] =1
But v =x*

- limg, L+ [x%] =1
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